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a ét¢ multiplié par 32 (=9).
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L’aire de la surface

a été¢ multiplié par 32 (=9).
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a été multiplié par 3% (=9).
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Le volume du solide
a été multiplié par 33 (=27).
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Le volume du solide
a été¢ multiplié par 33 (=27).
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L’aire de la surface

a été multiplié par 32 (=9).
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Le volume du solide
a été multiplié par 33 (=27).
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L’aire de la surface

a été multiplié par 32 (=9).
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Le volume du solide
a été multiplié par 33 (=27).
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L’aire de la surface

a été multiplié par 32 (=9).
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3xL

Le volume du solide
a été multiplié par 33 (=27).
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L’aire de la surface

a été multiplié par 32 (=9).

3xL

Le volume du solide
a été multiplié par 33 (=27).
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L’aire de la surface

a été multiplié par 32 (=9).

i X3,
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3xL

Le volume du solide
a été multiplié par 33 (=27).
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L’aire de la surface

a été multiplié par 32 (=9).
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Le volume du solide
a été multiplié par 33 (=27).
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